Solve this system of equations with matrices.
148x + 137y = -863
-86x + 191y = -1934 -
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Solve this system of equations:
Using Elimination we find
that these are really the

% <4X -10y = 18> {2X — 502— —5Y same line, therefore,
L@ 1By=27) 2% —Pog = S e e rons
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If you try to solve this system of
equations with matrices you'll get an
error message which indicates you
can't use matrices to solve this system.
This means that the system either has NO SOLUTION or MANY
SOLUTIONS. To determine which answer is correct you

need to use either Elimination or Substitution.

Solve this system of equations.
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Solve this system of equations. Give answer as an ordered triple.
y
-X+3y-5z=-24 A= [gl
“Ix +4z =48
"-3X-4y+z=-3
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Solve this system of equations.._Give answer.as an ordered triple.
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A package delivery service delivers three sizes of boxes, Small, Medium,
and Large. They charge different prices for different sizes of boxes.

On Monday, the driver delivered 5 small, 2 medium, and 7 large boxes

and brought back $405.

On Tuesday, the driver delivered 4small and 15 medium boxes and brought
back $435.

On Wednesday, the driver delivered 1 small, 5 medium, and 11 large boxes

and brought back $580. E\ l 6
What is the cost for delivery of each size box? Eas 4 9_5
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Last week | bought some Cokes and Milky Way bars from the vending
machine. Cokes cost $1.85 each and Milky Way bars cost $1.55 each.

| spent a total of $12.05.

This week | bought the same number of Cokes and Milky Way bars

but the prices went up to $2.15 for a Coke and $1.75 for a Milky Way bar.

| spent a total of $13.85.

How many of each did | purchase each week?

L¥SC +/SSsm= /2.6
24SC + [7SM= 3485

Solve. State the solution as an ordered quadruple.

3w—2x+6y+z
4w +x -5y -2z

2w=5%x+y+3z=0
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